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QUESTION 1

Refer to Exhibit.

Data Resiliency Slatus
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An administrator increases the cluster RF to 3. The containers are not modified.

What will the new values in the data resiliency dashboard be for FAILURES TOLERABLE for the Zookeeper and Extent
Groups components?

A. Zookeeper = 1 and Extent Groups = 1
B. Zookeeper = 2 and Extent Groups = 2
C. Zookeeper = 2 and Extent Groups = 1
D. Zookeeper = 1 and Extent Groups = 2

Correct Answer: C

QUESTION 2

A guest VM should be able to tolerate simultaneous failure of two nodes or drives. What are the minimum requirements
for the Nutanix cluster?

A. 3 nodes with cluster RF 3 and container RF 3
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B. 3 nodes with cluster RF 3 and container RF 2
C. 5 nodes with cluster RF 2 and container RF 3
D. 5 nodes with cluster RF 3 and container RF 3
Correct Answer: D

Reference: https://portal.nutanix.com/page/documents/details?targetld=Web-Console- Guide-Prism-
v5_16:arcredundancy-factor3-c.html

QUESTION 3

What is the purpose of the nutanix oplog?
A. aos log files repository

B. sequential read i/o buffer

C. aos services active memory space

D. random write i/o buffer

Correct Answer: D

QUESTION 4

Which feature, if enabled, can simplify licensing operations?
A. License Automation

B. my.nutanix.com

C. License Bundle

D. Portal Connection

Correct Answer: A

QUESTION 5
What command is used to run the nutanix cluster checks from the CVM CLI?
A. ncc health_check run_all

B. ncc run_all_health_check
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C. ncc check_all health_options
D. ncc check_health run_all

Correct Answer: A
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